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Find the exact solution and a two-decimal-place approximation for it by using (a) logarithms & (b) the
change of base formula.
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Evaluate using the change of base formula (without a calculator.)
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Find (a) the exact solution, using common logarithms, and (b) a two-decimal approximation of each
solution, when appropriate.
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11. logx=1-log (x-3) 12. Iog(x +4) log (x+2)=2+log (x-2)
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Solve the equation without using a calculator.

15. log(x?) = (log x)zy 16. log (log x) =2 17. xV108% = 18
g o2 (g ¥) 107 Ing & by (x 79%)" /57
2 Laj‘ |0

VE (L"i" ,z/gyc /002 /i £ J‘g;[/j x) 0

— 10 = / -
2100 0 =
Sketc the grapho nd-usé the change of base formula to approximate the y-intercept. 0 oo0 -'}0

18. f(x) = logs (x + 5)
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Sketch the graph of f, and use the change of base formula to approximate the x-intercept.

19. f(x)=4*-3

. g3
K= Iy f;?

20. Use the compound interest formula to determine how long it will take for a sum of money to double if it is
invested at a rate of 6% per year compounded monthly.
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21. If a 100-milligram tablet of an asthma drug is taken orally and if none of the drug is present in the body
when the tablet is first taken, the total amount A in the bloodstream after t minutes is predicted to be

A =100[1-(0.9)"] for0 <t < 10.

(a) Sketchgthe graph of the equation. (b) Determine the number of minutes needed for
§ 50 milligrams of the drug to have entered the
_3 bloodstream.
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